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e Do not open the exam until you are instructed to do so.

e Show sufficient work to justify each answer.

e (Calculators are allowed but cell phones are not allowed during the exam.

e Exchange of any material such as calculator, pen, eraser is not allowed.

e No questions are allowed.

e You have 1 hour to finish this exam. You can leave only after 30 minutes of the exam.
e There are 3 questions and 5 pages in this exam.

e The multiple choice question should be filled in the bubble sheet using pencil only.

Question | Points | Score
1 20
2 16
3 14
Total: 20

Exam Version: A
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Question 1 (20 points)
Choose the correct answer for each of the following:
(1) The derivative of f(z) = J sin(t%) dt is
3
A. 2z sin(z'?) B. sin(z'?) C. 2z
D. cos(z9) E. 2zsin(z9) F. 2z cos(z'?)
9 4 9
(2) If f f(z)dz =13 and j f(z)dz = 10, then the value of f f(z)dx is
1 1 4
A. 12 B. 3 C. 8
D. 7 BE. —12 F. -8
(3) The derivative of f(z) = Inx® is
5 1 1
A — B. — C. —
xd x® x
D. L E. 5 F. bz
T x
(4) The linearization of f(x) = /25 —z at x =0 is
A5 — B. 25—z C.5—3x
D. 5+ 5 E. 25+ s F. 543z
(5) The derivative of f(x) = log,(z? + 1) is
A 1 B. 2z c 2z(In4)
(22 +1)(In4) (z2 + 1) (22 +1)
1 2z 2z
D. E. F.—
2?2 +1 (22 + 1)(log, x) (22 + 1)(In4)
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(6) The value of the definite integral J4 cos(2x) dx is
0
A0 B. 1 1
D. 2 E. —2 -1
d d
(7) If 2y = 6 and d—f = 2, what is d_?; when z = 17
A6 B. 12 . 0
D. —6 E. —12 1
D -3
(8) fudl’ -
x
A —RE_WE L B. %240 L+ BErC
D. 10yz+ % +C E 24240 10z -5+ C
(9) The derivative of f(x) = sin ' 4/9x is
S V/1-9z C 91 -9z S 997 — 1
D 9 B V9 V9
CVzV1 =92 Va1 =9z C2y/x/1 -9z
(10) The derivative of f(x) = 6577 is
A. 6eos® B. (In6)65"(cos x) Gsin
D. (In6)6°s* E. 6°m%(cosx) . —(In6)6°**(sin x)
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Question 2 (10 + 6 points)

(a) Use logarithmic differentiation to find ¢ for the function

_ [(@? +1)3cosx
v sin®(2)

(b) Find the derivative of f(z) = (sinz)™".
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Question 3 (8 + 6 points)

(a) Find the slope of the tangent line to the curve z%y* + e = ¢¥ + 1 at the point (1,1).

(b) Solve the initial value problem

dy 4

dr 1+ 22 y(1) =0.



